
300    :    500    =    

55    :    121    =    

28    :    20    =    

12    :    8    =    

6    :    4    =    

30    :    18    =    

77    :    121    =    

14    :    77    =    

33    :    15    =    

700    :    300    =    

18    :    45    =    

35    :    77    =    

9    :    33    =    

21    :    77    =    

300    :    700    =    



300    :    500    =    3    :    5       ( delen door 100 ) 

55    :    121    =    5    :    11       ( delen door 11 ) 

28    :    20    =    7    :    5       ( delen door 4 ) 

12    :    8    =    3    :    2       ( delen door 4 ) 

6    :    4    =    3    :    2       ( delen door 2 ) 

30    :    18    =    5    :    3       ( delen door 6 ) 

77    :    121    =    7    :    11       ( delen door 11 ) 

14    :    77    =    2    :    11       ( delen door 7 ) 

33    :    15    =    11    :    5       ( delen door 3 ) 

700    :    300    =    7    :    3       ( delen door 100 ) 

18    :    45    =    2    :    5       ( delen door 9 ) 

35    :    77    =    5    :    11       ( delen door 7 ) 

9    :    33    =    3    :    11       ( delen door 3 ) 

21    :    77    =    3    :    11       ( delen door 7 ) 

300    :    700    =    3    :    7       ( delen door 100 ) 


